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1/1/1/1 Stalowy 5 Dobry |1 x YKY 3x6 ocp |70 34
1/1/4 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
1/1/8 Stalowy 4 Dobry |2 x YAKY 4x35 OoCcP |70 34
1/1/8/1 Stalowy 4 Sredni |1 x YAKY 4x35 ocP |70 34
1/1/9 Stalowy 4 Sredni |2 x YAKY 4x35 OoCP |70 34
1/1/10 Pastorat 4 Sredni |2 x YAKY 4x35 ocP |70 34
1/1/10/1 Stalowy 4 Dobry |2 x YAKY 4x25 oCcpP |70 34
1/1/10/2 Stalowy 5 Dobry 1 x YAKY 4x25 OCP |70 34
1/1/12 Stalowy 4 Dobry |2 x YAKY 4x35 OoCcP |70 34
1/1/15 Stalowy 5 Sredni |2 x YAKY 4x35 OCP |70 34
1/2/1 Stalowy 4 Dobry |3 x YAKY 4x25 OCP |70 34
1/2/1/1 Stalowy 5 Dobry |1 x YAKY 4x25 ous |70 34
1/2/1/2 Stalowy 5 Dobry |2 x YAKY 4x25 ous |70 34
1/2/1/3 Stalowy 5 Dobry |2 x YAKY 4x25 ous |70 34
1/2/1/5 wz 5 Dobry |3 x YAKY 4x35 ous |150 104
1/2/1/7 wz 5 Sredni |2 x YAKY 4x35 Ous 400 150
1/2/1/8 wz 5 Sredni |2 x YAKY 4x35 Ous 400 150
1/2/1/9 )74 5 Sredni |2 x YAKY 4x35 OuUsS 400 150
1/2/1/10 Wz 4 Dobry |2 x YAKY 4x35 OUS 400 150
1/2/1/11 wz 4 Dobry |1 x YAKY 4x35 OouUs 400 150
1/2/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/2/4/1 Stalowy 4 Dobry |2 x YAKY 4x25 OCP |70 34
1/2/4/3 Stalowy 5 Dobry |2 x YAKY 4x25 OCP |70 34
1/2/4/4 Stalowy 4 Sredni |1 x YAKY 4x25 ocP |70 34
i/2/5/3 Stalowy 5 Dobry |2 x YAKY 4x35 ocP |70 34
1/2/6/1 Stalowy 4 Dobry |1 x YKY 4x6 ous |70 34
1/2/6/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/2/6/6 Stalowy 5 Dobry |3 x YAKY 4x35 3x0US |100 60
1/2/7 Stalowy 4 Dobry 1 x YAKY 4x25 OCP |70 34
1/2/8/1 Stalowy 4 Dobry |1 x YAKY 4x25 OCP |70 34
1/2/10 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
1/3/1 Stalowy 3 Dobry |1 x YKY 5x6 ouUs 100 60
1/3/2 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
1/3/2/1 Stalowy 5 Dobry |1 x YKY 4x10 2x0Us (100 60

ZADANIENR 1




Zatacznik nr 10

g 5 | &

< 3 s | 2

g = :LSJ = %’ < S ‘§

> 2 X & = 2 & | N

& o 9) = L < Q -

pe o > < o0 e o o

= = = & g o = &
1/3/4 Stalowy 4 Sredni |2 x YAKY 4x35 OCP (70 34
1/3/5 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/6 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/7 Stalowy 5 Dobry |2 x YAKY 4x35 ocep |70 34
1/3/7/1 Stalowy 4 Dobry |1 xYKY 3x4 oceP |70 34
1/3/8 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
1/3/10/1 Stalowy 9 Dobry |2 x YAKY 4x35 2x0US (100 60
1/3/10/2 Stalowy 6 Dobry |2 x YKY 5x10 2x 0US [100 60
1/3/10/3 Stalowy 6 Dobry |1 x YKY 5x10 2x 0US [100 60
1/3/11 Stalowy 4 Dobry |2 x YAKY 4x35 OCcP |70 34
1/3/12 Stalowy 4 Dabry |2 x YAKY 4x35 OoCP |70 34
1/3/14 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
1/3/15 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
2/11 Stalowy 7 Dobry |2 x YAKY 4x35 OZPR |70 34
2/1/2 wz 7 Dobry |2 x YAKY 4x35 ous |70 34
2/1/2/1 wz 7 Dobry  |YAKY 4x25 2x0Us |70 34
2/1/2/3 Wz 7 Dobry |YAKY 4x25 2x0Us |70 34
2/1/2/6 wz 7 Dobry |2 x YAKY 4x35 ous |[150 104
2/1/2/7 Stalowy 7 Dobry |2 x YAKY 4x35 2x0US |150 104
2/1/3 Wz 7 Dobry |2 x YAKY 4x35 ouUs |150 104

2 x YAKY 4x35 1x
2/1/4 \\'74 7 Dobry  |YAKY 4x25 ous |150 104
2/1/4/1 Stalowy 7 iDobry |2 x YAKY 4x35 OZPR |70 34
2/1/4/2 Stalowy 7  [pobry |2 x YAKY 4x35 ocpP |70 34
2/1/5 \'\'74 7 'Dobry 3 x YAKY 4x35 ous |150 104
2/1/5/1 Stalowy 7 Dobry |2 x YAKY 4x35 OCP |70 34
2/1/5/2 Stalowy 7 Dobry |1 x YAKY 4x35 OZPR |70 34
2/1/6 wz 7 Dobry |2 x YAKY 4x35 OuUS |150 104
2/1/7 Wz 7 Dobry 3 x YAKY 4x35 OuUs |150 104
2/1/7/1 Stalowy 7 Dobry |2 x YAKY 4x35 OCP |70 34
1 x YAKY 4x35 1 x

2/1/8 \'\'74 7 Dobry |YAKY 4x25 ouUs |150 104
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2/1/8/1 wz 7 Dobry |2 x YAKY 4x35 OouUs |[250 150
2/1/8/2 wz Dobry |2 x YAKY 4x35 OuUs (250 150
2/1/8/3 wz Dobry |1 x YAKY 4x35 OUsS |250 150
2/1/9 \\'74 7 Dobry |2 x YAKY 4x35 ouUs 150 104
2/1/10 wz 7 Dobry |2 x YAKY 4x35 ous 150 104
2 x YAKY 4x35+1 x
2/2/2 Stalowy 4 Sredni  |YKY 5x16 ocP |70 34
2/2/3 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
2/2/4 Stalowy 4 Dobry |2 x YAKY 4x35 OoCcP |70 34
2/2/5/1 Stalowy Dobry |1 x YAKY 4x25 2x0US |70 34
2/2/7 Stalowy 4  [Sredni |2 x YAKY 4x35 ocP |70 34
2/2/9 Stalowy 8 Dobry |2 x YKY 5x10 2x0us |70 34
2/2/10 Stalowy 8 Dobry |2 x YKY 5x10 2x0uUs |70 34
3/1/1 Stalowy 5 Dobry |3 x YAKY 4x35 OoCP |70 34
2 x YAKY 4x35+1 x
3/1/1/3 Pastorat 4  |Sredni |[YKY5x16 ocP |70 34
3/1/4/1 Stalowy 5 Dobry |1xYKY 3x6 2x0US |150 104
3/1/6 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
3/1/8/1 Pastorat 5 Dobry |2 x YAKY 4x35 OoCcP |70 34
3/1/9/4 Stalowy 2 x YAKY 4x35 ocP |70 34
3/1/10 Stalowy 4 Dobry |3 x YAKY 4x35 ocP |70 34
3/1/10/1 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
3/1/11 Stalowy 5 iDobry |2 x YAKY 4x35 OCP |70 34
3/1/12 Stalowy 4 Dobry |3 x YAKY 4x35 ocP |70 34
3/1/12/2 Stalowy 4 Dobry |1 x YAKY 4x35 ocP |70 34
3/1/13/1 Stalowy 5 Dobry |3 x YAKY 4x35 ocP (70 34
3/1/14 Stalowy 4 Dobry |1 x YKY 5x10 OCP |70 34
3/1/17/2 Stalowy 4 Dobry |1 x YAKY 4x35 OCP |70 34
3/1/18/1 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
3/1/18/2 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
3/2/1 Stalowy 4 Dobry |3 x YKY 5x10 ocP |70 34
1 x YAKY 4x35+1 x
3/2/2 Stalowy 4 Sredni  |YKY 5x10 OZPR (70 34
3/2/2/1 Stalowy 4 Dobry |2 x YAKY 4x35 ocp (70 34
3/2/3 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
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3/2/3/2 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
3/2/3/4 Stalowy 5 Dobry |1 x YAKY 4x35 ocP |70 34
3 x YAKY 4x35+1 x
3/2/5 Stalowy 5 Dobry |YKY 5x10 oCcP |70 34
3/2/8 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
3/2/10/1 Stalowy 5 Dobry |1 x YAKY 4x16 ocp |70 34
2 x YAKY 4x35 1 x
3/2/12 Stalowy 4 Dobry |YKY 5x10 ocp |70 34
3/2/14 Stalowy 4 Dobry |1 x YAKY 4x25 oceP |70 34
1 x YAKY 4x35+1 x
4/1/1 Stalowy 4 Sredni  |YKY 5x16 ocP |70 34
4/1/2 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
4/1/3 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
2 x YAKY 4x35+1 x
4/1/4 Stalowy 4 Sredni  |YKY 5x16 ocP |70 34
4/1/5 Stalowy 4 Dobry |2 x YKY 5x16 OoCcP |70 34
4/1/5/1 Stalowy 5 Dobry |2 x YKY 5x16 ocp |70 34
4/1/5/2 Stalowy 5 Dobry |2 x YKY 5x16 oCcP |70 34
4/1/5/3 Stalowy 5 Dobry |2 x YKY 5x16 OoCcP |70 34
4/1/5/4 Stalowy 5 Dobry |1 x YKY 5x16 OoCP |70 34
4/1/6 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
4/1/11 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
4/2/2/1 Stalowy 5 Dobry |2 x YAKY 4x35 oCcP |70 34
2 x YAKY 4x35+ 1 x
4/2/2/3 Stalowy 4 Dobry |YKY 3x2,5 OCP |70 34
4/2/2/4 Stalowy 4 Dobry |2 x YAKY 4x35 oCcP |70 34
4/2/2/5 Stalowy 5 Dobry |1 x YAKY 4x35 OoCP |70 34
4/2/3 Stalowy 5 Dobry |3 x YAKY 4x35 OCP |70 34
4/2/5 Stalowy 5 Dobry |2 x YAKY 4x35 OoCp |70 34
4/2/6 Stalowy 5 Dobry |1 xYKY 5x10 ocP |70 34
' 1 x YAKY 4x351 x
5/1/7 Stalowy 5 Dobry |YKY 5x25 Kula |70 34
5/1/8 Stalowy 5 Dobry |2 x YAKY 4x25 Kula |70 34
1 x YAKY 4x35+1 x
5/1/9 Stalowy 5 Dobry  |YKY 5x6 Kula |70 34
5/4/2 Stalowy 5 Dobry |2 x YAKY 4x25 OCP |70 34
5/4/3 Pastorat 6 Dobry |2 x YAKY 4x25 Kula [150 104
5/4/3/1 Pastorat 6 Dobry |2 x YAKY 4x25 Kula |150 104
5/4/3/2 wz 6 Dobry |2 x YAKY 4x25 OUR |70 34
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5/4/3/3 wz 6 Dobry |2 x YAKY 4x25 OUR |70 34
5/4/3/4 wz 6 Dobry |2 x YAKY 4x25 QuUs |70 34
5/4/4 Pastorat 5 Dobry |1 x YAKY 4x25 Kula |150 104
5/4/5 Pastorat 5 Dobry |2 x YAKY 4x25 Kula (150 104
5/4/6 Pastorat 5 Dobry |2 x YAKY 4x25 Kula ]150 104
5/4/7 Pastorat 5 Dobry |2 x YAKY 4x25 Kula [150 104
5/4/8 Pastorat 5 Dobry |2 x YAKY 4x25 Kula [150 104
5/4/9 Pastorat 5 Dobry |2 x YAKY 4x25 Kula |150 104
5/4/10 Pastorat 5 Dobry |2 x YAKY 4x25 Kula ]150 104
5/4/11 Pastorat 6 Dobry |2 x YAKY 4x25 Kula [150 104
6/1/2 Stalowy 5 Dobry |2 x YAKY 4x35 ocP |70 34
6/1/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
6/2/2 Stalowy 5 Dobry |2 x YAKY 4x35 ocP |70 34
6/2/5 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
6/2/7 /5 wz 5 Dobry |2 x YAKY 4x35 OuUs 150 104
6/2/7 /6 wz 5 Dobry |2 x YAKY 4x35 ouUs |150 104
6/2/8 Stalowy 4 Dobry |2 x YAKY 4x25 OoCP |70 34
6/2/9 Stalowy 4 |Dobry |2 x YAKY 4x25 ocp |70 34
6/2/10 Stalowy 4 Dobry |1 x YAKY 4x25 OCP |70 34
7/1 Stalowy 5 Dobry |2 x YKY 3x4 MALAGA |70 34
7/1/1 Stalowy 5 Dobry |1 x YKY 3x4 ous |70 34
7/1/2 Stalowy 5 |Dobry |2xYKY3x4 ous |70 34
7/1/3 Stalowy 4 Dobry |2 x YKY 3x4 ous |70 34
7/1/4 Stalowy 4 Dobry |3 x YKY 3x4 ous |70 34
7/1/5 Stalowy 4 Dobry |2 x YKY 3x4 ous |70 34
7/1/6 Stalowy 4 Dobry |2 x YKY 3x4 ous |70 34
7/1/7 Stalowy 5 Dobry |2 x YKY 3x4 ous |70 34
7/1/8 Stalowy 5 Dobry |2 x YKY 3x4 2X0USs |70 34
7/1/9 Stalowy 5 Dobry |2 x YKY 3x4 ous |70 34
7/1/10 Stalowy Dobry |1 x YKY 3x4 ous |70 34
7/2 Stalowy 5 iDobry |2 x YKY 3x4 MALAGA |70 34
7/2/1 Stalowy 5 iDobry |2 x YKY 3x4 MALAGA |70 34
7/2/2 Stalowy 4 Dobry |2 x YKY 3x4 MALAGA |70 34
7/2/3 Stalowy 4 Dobry |2 x YKY 3x4 MALAGA |70 34
7/2/4 Stalowy 4 Dobry |1 x YKY 3x4 MALAGA |70 34
7/3 Stalowy 5 Sredni |3 x YKY 3x4 MALAGA |70 34
7/4 Stalowy 5 Dobry |2 x YKY 3x4 MALAGA |70 34
7/5 Stalowy 5 [Dobry |1 x YKY 3x4 MALAGA |70 34
7/6 Stalowy 5 Dobry |1 xYKY 3x4 MALAGA |70 34
1 Pastorat ‘Dobry |2 x YAKY 5x16 ROSA |70 34
2 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
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3 Pastorat Dobry |1 x YAKY 5x16 ROSA |70 34
4 Pastorat Dobry |1 x YAKY 5x16 ROSA |70 34
5 Pastorat Dobry |3 x YAKY 5x16 ROSA |70 34
6 Pastorat Dobry |3 x YAKY 5x16 ROSA |70 34
7 Pastorat Dobry |3 x YAKY 5x16 ROSA |70 34
8 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
9 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
10 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
11 Pastorat Dobry |2 x YAKY 5x16 2xkula |70 34
12 Pastorat Dobry |2 x YAKY 5x16 3xkula |70 34
13 Pastorat Dobry |2 x YAKY 5x16 3 xkula |70 34
14 Pastorat Dobry |1 x YAKY 5x16 3 xkula |70 34
15 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
16 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
17 Pastorat Dobry |2 x YAKY 5x16 ROSA (70 34
18 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
19 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
20 Pastorat Dobry |2 x YAKY 5x16 ROSA |70 34
20/1-2 Stupki LED Dobry |2xYDY3x2,5 70 34
20/3-4 Stupki LED Dobry |2xYDY3x2,5 70 34
20/5-6 Stupki LED Dobry [2xYDY3x2,5 70 34
20/7-8 Stupki LED Dobry |2 xYDY3x2,5 70 34
20/9-10 Stupki LED Dobry [2xYDY3x2,5 70 34
9/1/1 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/2 Pastorat 5  |Sredni [2xYKY5x10 Kula |70 34

2 x YKY 5x10+1 x
9/1/3 Pastorat 5 Dobry |YKY 5x6 Kula |70 34
9/1/4 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/5 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/6 Pastorat 5 iDobry |2 x YKY 5x10 Kula |70 34
9/1/7 Pastorat 4  [Dobry [2xYKY>5x10 Kula |70 34
9/1/8 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/9 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/10 Pastorat 4 Dobry |2 x YKY 5x10 Kula |70 34
9/1/11 Pastorat 4 Dobry |1 xYDY 3x2,5 Kula |70 34
2 x YKY 5x10+1 x

9/1/10/1 Pastorat Dobry  |YKY 3x2,5 Kula |70 34
9/1/10 /2 Pastorat Dobry |2 x YDY 3x2,5 Kula |70 34
9/1/10/3 Pastorat Dobry |2 x YKY 5x10 Kula |70 34
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9/1/12 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/13 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/14 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
9/1/15 Pastorat 5 Dobry |2 x YKY 5x10 Kula |70 34
2 x YAKY 4x35+1 x
10/1/1 wz 8 (Dobry  |YKY 5x16 2x0US (100 60
10/1/2 Stalowy 8 Dobry |2 x YAKY 4x35 Oous |100 60
10/1/3 Stalowy 8 Dobry |2 x YAKY 4x35 ouUs |100 60
10/1/4 Stalowy 8 Dobry |2 x YAKY 4x35 ous |100 60
10/1/5 Stalowy 8 Dobry |2 x YAKY 4x35 ous (100 60
10/1/6 Stalowy 5 Dobry |3 x YAKY 4x35 Ous |100 60
10/1/7 Stalowy 5 Dobry |2 x YAKY 4x35 ous |100 60
10/1/8 Stalowy 8 Dobry |2 x YAKY 4x35 ouUs [100 60
10/1/9 Stalowy 8 Dobry |1 x YAKY 4x35 oUs [100 60
10/1/10 Stalowy 8 Dobry |1 x YAKY 4x35 ouUs |[100 60
1 x YAKY 4x35+1 x
10/1/10/1 Stalowy 8 Dobry |YKY 5x16 ous [100 60
1 x YAKY 4x31 x
YKY 5x16+ AsXSn
10/1/10/2 Stalowy 8 Dobry [2x25 ous |100 60
10/1/10/3 Stalowy 8 Dobry |2 x YAKY 4x35 ous |100 60
10/1/10/4 ZN 8  |Sredni |AsXSn 2x25 OuUs |[250 150
AsXSn 2x25+1 x
10/1/10/5 IN 9 Sredni  |YKY 3x4 ous |[250 150
10/1/10/6 Stalowy 9 (Dobry |1 x YKY 3x4 ous |100 60
10/1/10/7 ZN 9  |[Sredni |AsXSn 2x25 ouUs 250 150
10/1/10/8 ZN 9  |Sredni |AsXSn 2x25 OouUs [250 150
1 x YAKY 4x35+1 x
10/1/11 Stalowy 8 Dobry |YKY 5x16 ous (100 60
2 x YAKY 4x35+1 x
10/1/12 Stalowy 8 iDobry  |YKY 5x16 Ous |100 60
10/1/13 Stalowy 6 Dobry |2 x YAKY 4x35 OouUs |100 60
2 X YAKY 4x351+1
10/1/14 Stalowy 6 Dobry |x YKY 5x16 Ous |100 60
10/1/14/1 Stalowy 6 |Dobry [1xYKY5x16 ous |100 60
10/1/15 Stalowy 8 Dobry |1 xYKY 5x16 2x0US (100 60
1 x YAKY 4x35+1 x
10/1/16 Stalowy 8 Dobry |YKY 5x16 OuUs [100 60
10/1/5/2 Stalowy 5 Dobry ous |70 34
52R wz Dobry |1 x YKY 5x10+1 x
YAKXS 4x25 ous f1o0 69
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55R wz Dobry 1 x YAKXS 4x25 OuUs |100 60
24/1/1 Stalowy 4 Dobry |3 x YKY 5x10 ocpP |70 34
24/1/2 Stalowy 5 Sredni |1 x YKY 5x10 ocp |70 34
24/1/3 Stalowy 5 Sredni |1 x YKY 5x10 ocp |70 34
24/1/3/5 Stalowy 4 Sredni |2 x YKY 5x10 ocp |70 34
24/1/3/6 Stalowy 5 Dobry |3 x YKY 5x10 ocp |70 34
24/1/4 Stalowy 5 Dobry |1 xYKY5x10 OcP- |70 34
24/1/4/1 Stalowy 5 Dobry |2 x YKY 5x10 ocP |70 34
24/1/4/2 Stalowy 5 Dobry |2 x YKY 5x10 ocP |70 34
24/1/4/3 Stalowy 5 Dobry |2 x YKY 5x10 OocpP |70 34
24/1/4/4 Stalowy 5 [Dobry |2xYKY5x10 ocP |70 34
24/1/4/5 Stalowy 4 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/4/6 Stalowy 5 Dobry |2 x YKY 5x10 ocP |70 34
24/1/4/7 Stalowy 5 Dobry |1 x YKY 5x10 OocP |70 34
24/1/5 Stalowy 5 Dobry |2 x YKY 5x10 ocP |70 34
24/1/6 Stalowy 5 Dobry |2 x YKY 5x10 OocP |70 34
24/1/6/1 Stalowy 4 Dobry |1 x YKY 5x10 ocpP |70 34
24/1/6/2 Stalowy 4 Dobry |1 xYKY 5x10 ocP |70 34
24/1/7 Stalowy 5 [Dobry |3 x YKY 5x10 ocP |70 34
24/1/8 Stalowy 4 Dobry |2 x YKY 5x10 OoCP |70 34
24/1/10 Stalowy 4 Dobry |2 x YKY 5x10 ocP |70 34
24/1/11 Stalowy 4  [Sredni [1xYKYS5x10 ocp |70 34
24/1/13 Stalowy 4 Dobry |2 x YKY 5x10 2x0Us |70 34
24/1/13/1 Stalowy 5 Dobry |1 xYKY 5x10 3x0Us |70 34
24/1/14 Stalowy 8 Dobry |1 x YKY 5x10 3x0Us |70 34
24/1/1/1 Stalowy 8 [Dobry |3 x YKY 5x10 3x0US |150 104
24/2/2 Stalowy Dobry |3 x YKY 5x10 ocP |70 34
24/2/3 Stalowy (Dobry |2 x YKY 5x10 ocp |70 34
24/2/4 Stalowy Dobry |3 x YKY 5x10 OCP |70 34
24/2/5 Stalowy Dobry |4 x YKY 5x10 OoCP |70 34
24/2/5/2 Stalowy Dobry |2 x YKY 5x10 OCP |70 34
24/2/6/1 Stalowy Dobry |2 x YKY 5x10 OCP |70 34
24/2/6/2 Stalowy Dobry |1 x YKY 5x10 OoCcP |70 34
24/3/1 Stalowy Dobry |1 x YKY 5x10 ocP |70 34
12/1/3 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/1 Stalowy 4 Dobry |3 x YAKY 4x35 ocp |70 34
12/1/3/2 Stalowy 4 Dobry |2 x YAKY 4x35 OoCcP |70 34
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12/1/3/3 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/5 Pastorat 4 Dobry |1 x YAKY 4x35 OCP |70 34
12/1/3/7 Stalowy 4 Dobry |1 x YAKY 4x35 OCcP |70 34
12/1/3/8 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/9 Stalowy 6 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/10 Stalowy 6 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/3/11 Stalowy 6 Dobry |1 x YAKY 4x35 OCP |70 34
12/1/3/12 Stalowy 8 Dobry |2 x YAKY 4x35 2x0US |70 34
12/1/3/13 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
12/1/3/15 Stalowy 4 Dobry |2 x YAKY 4x35 + OCP |70 34
A Stalowy 7 Dobry |1 x YAKY 4x16 2x0Us |70 34
12/1/3/16 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/3/17 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/3/18 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/19 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
12/1/3/20 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
12/1/3/21 Stalowy 5 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/22 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
12/1/3/23 Stalowy 3 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/3/24 Stalowy 4 Dobry |2 x YAKY 4x35 Kula |70 34
12/1/3/25 Stalowy 4 Dobry |2 x YAKY 4x35 Kula |70 34
12/1/3/26 Stalowy 4 Dobry |1 x YAKY 4x35 Kula (70 34
12/1/3/27 Stalowy 5 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/3/28 Stalowy 4 Dobry |1 x YAKY 4x35 ocP |70 34
12/1/3/29 Stalowy 4 Dobry |1 x YAKY 4x35 OoCcP |70 34
12/1/4 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/1/4/1 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
12/1/5 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/7 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/9 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/10 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
12/1/11 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/12 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/1/13 Stalowy 5 iDobry |2 x YAKY 4x35 OoCP |70 34
12/1/14 Stalowy 5 Dobry |2 x YAKY 4x35 ocP |70 34
12/1/15 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/2/1 W2z 7 Dobry |3 x YAKY 4x35 ous (150 104
12/2/1/1 )74 7 Dobry |2 x YAKY 4x35 OouUs |150 104
12/2/1/2 wz 7 iDobry |2 x YAKY 4x35 ous (150 104
12/2/1/3 Wz 7 Dobry |2 x YAKY 4x35 ous (150 104
12/2/1/4 W2z 7 Dobry |2 x YAKY 4x35 ous |150 104
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12/2/1/5 wz 7 Dobry |2 x YAKY 4x35 2x0US [150 104
12/2/1/6 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/2/2 wz 7 Dobry |2 x YAKY 4x35 2x0US |70 34
12/2/3 wz 7 Dobry |2 x YAKY 4x35 ous |150 104
12/2/4 wz 7 Dobry |2 x YAKY 4x35 ouUs (150 104
12/2/5 V74 7 Dobry |2 x YAKY 4x35 2x0USs |70 34
12/2/6 W2z 7 Dobry |2 x YAKY 4x35 3x0USs |70 34
12/2/7 wz 7 Dobry |3 x YAKY 4x35 ous |150 104
12/2/8 V74 7 Dobry |2 x YAKY 4x35 ous |[150 104
12/2/9 wz 7 Dobry |2 x YAKY 4x35 ous |[150 104
12/2/10 Wz 7 Dobry |2 x YAKY 4x35 OouUs |150 104
12/2/11 Wz 7 Dobry |1 x YAKY 4x35 ous |[150 104
12/2/7/1 V74 7 Dobry |2 x YAKY 4x35 ous |[150 104
12/2/7/2 wz 7 Dobry |2 x YAKY 4x35 ouUs |[150 104
12/2/7/3 WZ 7 Dobry |2 x YAKY 4x35 OuUs |150 104
12/2/7/4 wz 7 Dobry |2 x YAKY 4x35 ous [150 104
12/2/7/5 wiZ 7 Dobry |2 x YAKY 4x35 Oous [150 104
12/2/7/6 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/2/7/7 Pastorat 5 Dobry |2 x YAKY 4x35 OoCcP |70 34
12/2/7/8 Stalowy 4 Dobry |1 x YAKY 4x35 OCP |70 34
12/2/7/9 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
12/2/7/10 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/2/7/11 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
12/2/7/12 Stalowy 4 Dobry |1 x YAKY 4x35 OoCP |70 34
12/2/7/13 Stalowy 4 Dobry |3 x YAKY 4x35 OCP |70 34
12/2/7/14 Stalowy 5 Dobry |3 x YAKY 4x35 OCP |70 34
12/2/7/15 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
12/2/7/16 Stalowy 5 Dobry |1 x YAKY 4x35 OoCP |70 34
12/2/7/17 Stalowy 5 Dobry |3 x YAKY 4x35 OoCcP |70 34
12/2/7/18 Stalowy 5 Dobry |1 x YAKY 4x35 OCP |70 34
12/2/7/19 Stalowy 4 Dobry |1 x YAKY 4x35 OoCcP |70 34
12/2/7/20 Stalowy 4 Dobry |2 x YAKY 4x35 oCcP |70 34
12/2/7/21 Pastorat 4 Dobry |2 x YAKY 4x35 ocP |70 34
12/2/7/24 Pastorat 4 Dobry |2 x YAKY 4x35 ocp |70 34
12/2/7/25 SP5 5 2ty 1 x YAKY 4x35 OCP |70 34
12/2/7/26 Stalowy 4 Dobry |1 x YAKY 4x35 OoCP |70 34
13/1/1 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
13/1/2 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
13/1/2/3 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
13/1/3 Stalowy 5 Dobry |3 x YAKY 4x35 ocP |70 34
13/1/3/1 Stalowy 4 Dobry |2 x YAKY 4x35 OCP |70 34
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13/1/4 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
13/1/5 Stalowy 5 Dobry |1 x YAKY 4x35 OocP (70 34
13/2/1 Pastorat 4 Dobry |2 x YAKY 4x35 OCP |70 34
14/1/1 Stalowy 5 Dobry |2 x YKY 5x6 OCP (70 34
14/1/2/1 Stalowy 5 Dobry |3 x YKY 5x6 OCP |70 34
14/1/2/2 Stalowy 5 Dobry |1 x YKY 5x6 Kula |70 34
14/1/2/3 Stalowy 5 Dobry |2 x YKY 5x6 OCP |70 34
14/1/2/4 Stalowy 5 Dobry |2 x YKY 5x6 OoCcP |70 34
14/1/2/5 Stalowy 5 Dobry |2 x YKY 5x6 OCP |70 34
14/1/2/6 Stalowy 5 Dobry |3 x YKY 5x6 OCP |70 34
14/1/2/7 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/8 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/9 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/12 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/13 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/15 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/17 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/18 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/19 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/20 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/2/22 Stalowy 4 Dobry |1 x YKY 5x6 Kula |70 34
14/1/6/2 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/6/3 Stalowy 5 Dobry |1 x YKY 5x6 Kula |70 34
14/1/6/4 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/6/5 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/6/6 Stalowy 5 ‘Dobry 1 x YKY 5x6 oCcP |70 34
14/1/7/3 Stalowy 5 iDobry |1 x YKY 5x6 Kula |70 34
14/1/7/4 Stalowy 5 iDobry |2 x YKY 5x6 Kula |70 34
14/1/7/5 Stalowy 5 iDobry |2 x YKY 5x6 Kula |70 34
14/1/7/6 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/7/7 Stalowy 5 Dobry |1 x YKY 5x6 Kula |70 34
14/1/8 Stalowy Dobry |2 x YKY 5x6 Kula |70 34
14/1/9 Stalowy Dobry |3 x YKY 5x6 Kula |70 34
14/1/9/1 Stalowy 5 Dobry |1 x YKY 5x6 Kula |70 34
14/1/11 Stalowy 5 Dobry |2 x YKY 5x6 Kula |70 34
14/1/12 Stalowy 4 Dobry |3 x YKY 5x6 Kula |70 34

2 x YAKY 4x25+1 x

14/1/13 Stalowy 7 Dobry |YKY 5x6 2x0USs |70 34
14/1/13/1 Stalowy 7 Dobry |1 x YKY 5x6 2x0US |150 104
14/1/14 Stalowy 7 Dobry |2 x YAKY 4x25 2x0Us |70 34
14/1/15 Stalowy 4 Dabry |2 x YAKY 4x25 OouUs |70 34
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14/1/16 Stalowy 7 Dobry |2 x YAKY 4x25 2x0uUs |70 34
14/1/17 Stalowy 7 Dobry |2 x YAKY 4x25 2x0US (150 104
14/1/18 Stalowy 7 Dobry |2 x YAKY 4x25 2x0US |150 104
14/1/19 Stalowy 7 Dobry |2 x YAKY 4x25 2x0US |150 104
14/1/20 Stalowy 7 Dabry |2 x YAKY 4x25 0ous |150 104
14/1/21 Stalowy 7 Dobry |2 x YAKY 4x25 Oous |150 104
14/1/22 Stalowy 7 Dobry |2 x YAKY 4x25 OuUs |150 104
14/1/23 Stalowy 7 Dobry |2 x YAKY 4x25 OuUS |150 104
14/1/24 Stalowy 7 Dobry |2 x YAKY 4x25 OouUs |150 104
15/1/1 Stalowy 5 Dobry |2 x YAKY 4x35 ocp |70 34
15/1/2 Stalowy 5 Dobry |2 x YAKY 4x35 ocp |70 34
15/1/3/1 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
15/1/3/2 Stalowy 5 Dobry |2 x YAKY 4x35 ocP |70 34
15/1/3/3 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
15/1/3/4 Stalowy 5 Dobry |2 x YAKY 4x35 ocP |70 34
15/1/3/5 Stalowy 5 Dobry |2 x YAKY 4x35 OCP |70 34
15/1/3/6 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
15/1/3/7 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
15/1/3/8 Stalowy 5 Dobry |2 x YAKY 4x35 OocP |70 34
15/2/1 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
15/2/1/1 Pastorat 4 Dobry |2 x YAKY 4x35 Ozdobna |70 34
15/2/1/2 Pastorat 4 Dobry |2 x YAKY 4x35 Ozdobna |70 34
15/2/1/3 Pastorat 4 Dobry |2 x YAKY 4x35 Ozdobna |70 34
15/2/1/4 Pastorat 4 Dobry |2 x YAKY 4x35 Ozdobna |70 34
15/2/1/7 Stalowy 5 Dobry |2 x YAKY 4x35 OoCP |70 34
15/2/2 Stalowy 4 Dobry |2 x YAKY 4x35 ocP |70 34
15/2/3 Stalowy 4 Dobry |2 x YAKY 4x35 ocp |70 34
15/2/4 Stalowy 4 Dobry |2 x YAKY 4x35 oCcP |70 34
15/2/5 Stalowy 4 Daobry |2 x YAKY 4x35 OCP |70 34
15/2/6 Stalowy 4 Dobry |2 x YAKY 4x35 OoCP |70 34
15/2/7 Stalowy 4 Dobry |1 x YAKY 4x35 OCP |70 34
16/1/1 Stalowy 5 Dobry |2 x YKY 5x6 ocp |70 34
16/1/1/1 Stalowy 5 Dobry |2 x YKY 5x6 ocp |70 34
16/1/1/2 Stalowy 5 Dobry |1 x YKY 5x6 ocP |70 34
16/1/2 Stalowy 4 Dobry |2 x YKY 5x6 ocp |70 34
16/1/3 Stalowy 4  |Dobry [2xYKYS5x6 ocp |70 34
16/1/4 Stalowy 4 Dobry |1 x YKY 5x6 oCcP |70 34
17/1/1 Stalowy 5 Dobry |2 x YKY 5x6 OoCcP |70 34
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17/1/2 Stalowy 5 Dobry |2 x YKY 5x6 ocP |70 34
19/1/1 Stalowy 4 Dobry |2 x YKY 5x6 OCP |100 60
19/1/1/1 Stalowy 4 Dobry |2 x YKY 5x6 OCP |100 60
19/1/1/2 Stalowy 4 Dobry |2 x YKY 5x6 OCP [100 60
19/1/1/3 Stalowy 4 Dobry |1 x YKY 5x6 ocP |100 60
19/1/2 Stalowy 5 Dobry |3 x YKY 5x6 OoCP (100 60
19/1/2/1 Stalowy 5 Dobry |1 xYKY 5x6 OCP (100 60
19/1/3 Stalowy 4 Dobry |2 x YKY 5x6 OCP |100 60
19/1/4 Stalowy 4 Dobry |2 x YKY 5x6 ocP  |100 60
19/1/5 Stalowy 4 Dobry |2 x YKY 5x6 OoCP |100 60
19/1/6 Stalowy 4 Dobry 1 x YKY 5x6 OCP |100 60
20/1/1 Stalowy 8 Dobry |2 x YKY 5x6 2x OUS [150 104
20/1/2 Stalowy 5 Dobry |2 x YKY 5x6 2x OUS [150 104
20/1/3 Stalowy 5 Dobry |2 x YKY 5x6 2x OUS |150 104
20/1/4 Stalowy 4 Dobry |2 x YKY 5x6 2x 0OUS |150 104
20/1/5 Stalowy 4 Dobry |2 x YKY 5x6 2x OUs [150 104
20/1/6 Stalowy 5 Dobry |1 x YKY 5x6 OuUs |150 104
1 Gotycka N Sredni |1 x YKY 5x16 2x OUS [150 104
2 Gotycka N Sredni |2 x YKY 5x6 2x OUS [150 104
3 Gotycka IN Sredni |2 x YKY 5x6 2x OUS |150 104
4 Gotycka ZN Sredni |2 x YKY 5x6 2x OUS [150 104
5 Gotycka Stalowy 5 Sredni |1 x YKY 5x6 2x OUS |150 104
6 Gotycka Stalowy 5 Dobry |1 x YKY 4x16 2x OUS |150 104
21/1 Stalowy 5 Dobry ocp |70 34
21/2 Stalowy 5  [Dobry ocp |70 34
21/3 Stalowy 5 Dobry ocpP |70 34
21/4 Stalowy 5 Dobry ocp |70 34
21/5 Stalowy 5 Dobry ocP |70 34
SO 3 Dabrow 19 Wz 10 |Dobry ouUs |150 104
SO 4 Dabrow 19 Wz 10 |Dobry OouUs [150 104
TO1 parking Stalowy 5 Dobry ous |70 34
TO2 parking Stalowy 5 Dobry ous (70 34
TO3 parking Stalowy 5 Dobry ous |70 34
TO4 parking Stalowy 5 Dobry QuUs |70 34
TOS parking Stalowy 5 Dobry OuUs |70 34
TO6 parking Stalowy 5 Dobry QuUs |70 34
H1 Kwitnaca Stalowy 7 Dobry 3x OUS |150 104
H2 Kwitngaca Stalowy 7 Dobry 2x OUS |150 104
H3 Kwitnaca Stalowy 7 Dobry 2x 0OUS |150 104
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